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Instructions

® Use black ink or ball-point pen.

® Fillin the boxes at the top of this page with your name,
centre number and candidate number.

® Answer all questions.

® Answer the questions in the spaces provided

— there may be more space than you need.
® Calculators may be used.

Information

® The total mark for this paper is 100

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

® Questions labelled with an asterisk (*) are ones where the quality of your
written communication will be assessed.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.

® Try to answer every question.

® Check your answers if you have time at the end.
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1. The equation
x3+20x =173

has a solution between 2 and 3

Use a trial and improvement method to find this solution.

Give your answer correct to one decimal place.
You must show ALL your working.

o e 9.0 e

S | 65628 < 33
4.F | #3-683 > #3
5, & 69-5FE <F3
i

65| FL 6L <F3 =5 2.5 <k 9 F

=, B D\q-t1d{’ )
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2. The equation
X —-x=29
has a solution between 3 and 4
Use a trial and improvement method to find this solution.

Give your answer correct to 1 decimal place.
You must show all your working.

. ~3 - oC

A.5 | 31 3FS 7 49
1. 4 2.9-56& < 39
3
5

. L6691 < 2.9
A8 28 [OB8'F5 <229

o= 32 (1l p ),
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The equation

¥+ 10x=24
has a solution between 1 and 2

Use a trial and improvement method to find this solution.
Give your answer correct to one decimal place.
You must show all your working.

2 X3+ 1O

1-5 | %3RS < 24
1€ | L3832 < a2y
L+ 9 | 15-8589 »au
-8S| L. 831628 2

Xe= l.g (1d-p )
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4. The equation

¥+ 10x =50

has a solution between 2 and 3
Use a trial and improvement method to find this solution.

Give your answer correct to 1 decimal place.
You must show all your working.

x X7+ 1O

2.-5 | Ho-(25 < 50

5.8 | P15 £ £
2.9} 53389 >% o
92.851 B51.649128 >s5 o

o= X% (14 p).
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5. The equation
x}+5x = 66
has a solution between 3 and 4

Use a trial and improvement method to find this solution.
Give your answer correct to one decimal place.
You must show ALL your working.
v e 2 5= B 0,

1-5 | 69-3F5 < 66

. TF o 6153 > 66

1.6 | 4. 656 <66

3687 66 EFHLIS > 6 ¢

oo 36 (Tt p ) L 2.6 (Td-p.)

(Total 4 marks)
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